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Assignment 9

The due date for submitting this assignment has passed. Due on 2019-10-02, 23:59 IST.
As per our records you have not submitted this assignment.

1) The foliowing L. P. P. 1 point

Max. Z=2x+y
subject to

x+2y <10

x+y=6

x—y=<2

x=-2y<1

and x,y =20
has the optimal value

8
10
il
E)
12
Mo, the answer is incorrect.
Score: 0
Accepted Answers:
10
2) The following L. P. P. 1 point
Max. Z=06x-2y
subject to
Ix—-yx2
x<3

and x, y =0 has

an unique solution
an unbounded solution
in finite number of solutions

no solution

Mo, the answer is incorrect.
acore: 0

Accepted Answers:
an unbounded solution

3) The following L. P. P, 1 point
Min. Z=x+y
subject to
S5x + 10y < 50
x+y=zl
y<4

and x,y = 0 has

an unique solution
no solution
an unbounded solution

infinite number of solutions

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
infinite number of solutions

4) The following L. P. P. 1 point
Max. Z = 40x + 60y
subject to
2x+y=70
x+y 240
x+ 3y =90

and x,y = (0 has

infinite number of solutions
an unbounded solution
no solution

an unique solution

Mo, the answer is incorrect.
acore: 0

Accepted Answers:
an unbounded solution

5) The standard form of the following LPP is 1 point
Max. Z =3x; + 4x: + x3
Subject to
X+ x2 < 2
X1+ x4+ 2x3 23
2x; +x3 <4

and x;, x2 = 0,
is

Max. Z = 3x; +4x3 + x; — xj
X1 +x2+5 =2

X +x: +2x, —2x] —5, =3
2% +x), —x{ +53=4

"
and x;, xz, x}, X, 5, 52, 53 = 0.

Max. Z = 3x; + 4x2 + x}, — x§
X +x2+5 =2

X+ %2 +2x, +2x) —52 =13
21 +x, —xi +53=4

and xy, x3, x5, x¥, 81, 52,513 2 0.

32 %3
Max. Z = 3;.;] +4I: +xfj_xgr
X1+ X2 +2x, =2xy =52 =3
2% +x, +x} +53 =4

[ "
and x1, x2, X}, x, 51, 52,53 = 0.

Max. Z = 3x; + 4x2 + xa
X1 +.‘-€3+.’5‘1=2
I1+IE+EI3-5‘1=3
2x) +x3 — 83 =4

and x, xz, X3, §1, 52, 53 = 0.

Mo, the answer is incorrect.
acore: 0

Accepted Answers:
Max. Z = 3x; +4dx; + x; — xj

I1+I3+.’i‘1=2
X +x:+2xi —2x) —5, =3
EI]-I-I;—IE'-I-SJ :-Iq-

]
and x;, x2, X3, X, 8, 52, 83 = 0.

6) T he standard formof following L. P. P. 1 point
Min. £ =2x; + x»
subject to
X — X2 — Xy = -2
x) + EI] + x4 = 1
X +x2 =6
and x;, x3, x4 > 0,
i5

Max. Z = =2x; — x, + X
—X1+x —x; +x3 =2
x; +2x) +2x) + x4 =1
X1 +x,—x; =6

and xp, x5, x5, x5, x4 = 0,

Max. £ = =2x; —x, +xJ
— X +x —xy +x3 =2

X1 +2x, —2x5 +x3 =1

X +x,+x) =6

and x;, x5, x3, x3, x4 = 0.

Max. £ = =2x; —x, + xJ
- X1 +x,—-x5+x3=12

X +2x —2x] + x5 =1

x+x;—x) =6

and x1, x5, x5, X3, x4 = 0.

Max. Z = =2x; — x, +x]
Xp =X, +x) —x3 =2

x +2x —2x) + x4 =1

x+x,—x; =6

and xp. x5, x5, x5, x4 2 0.

Mo, the answer is incorrect.
score: 0

Accepted Answers:
Max. Z = —2x; — x|, + xJ

—x]+x'1—x;'+x3=2
x1+2x£—2xg+x4=l
X1 +3 = x] =6

and x;, x5, xJ, x3, x4 2 0.

7} The maximum value of the objective function of the following L. P. P. 1 point
Max. Z=2x; + 5x2 + Tx3
subject to

31] + 2.1‘.'1 + 41'3 < 100
X + "-1-I1 + 2.1’3 < 100
x1 + X2 + 3xy < 100
and x;, x2, x3 = 0
using simplex method, is equal to

200
180
220
240
Mo, the answer is incorrect.
score: 0
Accepted Answers:
200
8) The value of the objective function of the following L. P. P. 1 point
Min, £ =x1 — 3x: + 2x3
subject to

3.1'] - X3 +E.‘-€3 <7
- 2x) +4x: < 12
—4.‘{] +3.‘.l:: + EI'_; < lﬂ,
X1, X2, x3 =0
using simplex method, is equal to

-10
10
-11
-12
Mo, the answer is incorrect.
acore: 0
Accepted Answers:
-11
9) T he optimal solutions for the following L. P. P, 1 point
Max. Z = 4x; + 10x»
subject to
2x + x2 < 50,
2x; + 5x2 < 100,
EI[ + 33‘.’2 < '_:]'{:I,
and x1, x2 = 0,

i5

x1 =50, x2 =0and x; = 25/8, xo = 75/4, Max Z =200

x1 =0, xo =20and x; =75/, x» =252, Max Z = 200

4

x1 =0, xo =20and x; = 25/8, x> = 75/4, Max Z = 200

x1 =50, x2 =0and x; =754, x: = 25/2, Max Z = 200

Mo, the answer is incorrect.
acore: 0

Accepted Answers:
x1 =0, xo =20and x; =75/4, xa =252, Max Z =200

10) The solution of the following degenerate L. P. P. 1 point
Max. Z = 2x; + 3x2 + 10x3
Subject to
X + 213 = '[:L
X2+ x3 =1,
X1, X2, x3 z 0,
is given by

x1 =0, xo = 1 (non — basic); x3 = 0 (basic), max. £ =3

1 (basic); max. Z =3

E
Il

x3 = 0 {non — basic); x; =0,
x1 = 1 {non = basic); x; =0, x3 = 0 (basic);, max. £=13

x1 = 0{non — basic); x» = 1, x3 = 0 (basic);, max. £ =3
Mo, the answer is incorrect.

Score: 0

Accepted Answers:
x; = 0 {non — basic); x» = 1, x5 = 0 (basic); max. £ =3



